



OFFICE OF THE CITY MANAGER



TO: Honorable Mayor and Members of the City Council

FROM: Patrick Urich, City Manager 

DATE: May 4, 2017

SUBJECT: Issues Update

The following are issues related to the City for the weekly Issues Update. If there are additional items you believe should be included, please let me know.

Pick Up Peoria—Monday Lunch Time Litter Pick Up

Monday, May 8—Our volunteer litter collection group will be meeting at Trinity Lutheran Church (Randolph and North Streets) to collect litter from 12:00 p.m.-1:00 p.m. Want to be added to the email list? Already picking up your block? Please email speterson@peoriagov.org with that information. Thank you!

Celebrating Green Infrastructure: The Thirsty Pilot Project

In October of 2016, the City of Peoria celebrated the completion of the Public Works Department’s complete, green street pilot project on SW Adams Street. The City’s Public Works Department was joined by the Innovation Team to identify ways to make the green infrastructure project work harder for Peorians. The collaboration resulted in some fresh ideas, including a big change from the traditional ribbon cutting. *CityFest >> Warehouse District* was a celebration to reintroduce the community to the improved streetscape. Over 1,500 Peorians came out for the party and saw what the future of Peoria’s green infrastructure could look like. If you didn’t make it down, check out this [short video](#) that the City’s Innovation Team put together to highlight the project and the party!

And speaking of the pilot project, it’s been hard at work soaking up rainwater. Using National Weather Service data, the City estimates that since *CityFest* on October 22nd, the project site has removed approximately 638,550 gallons of water from the combined sewer system. For those of you measuring in bath tubs, that much water would fill your tub at home at least 7,980 times!



Community Development Department - Rebuilding Together

Rebuilding Together Peoria, in partnership with the City of Peoria Community Development Department, hosted its annual Rebuilding Day on Saturday, April 29th. Formerly known as Christmas in April, Rebuilding Together Peoria is an all-volunteer organization that rehabilitates the homes of low-income and disabled homeowners at no charge. With help from volunteers representing area businesses, the organization helps residents perform critical repairs to create an immediate transformational change to homes in Peoria. Although most work is done through volunteers, funding from the City's Community Development Department assisted with major repairs such as roofing and flooring at four homes throughout the City. Despite the rain, volunteers still worked tirelessly to make interior repairs such as painting, plumbing, and other needed repairs.

Over the next few weeks, volunteers will return to the worksites to ensure all the work is completed. For questions or additional information, please contact City of Peoria Grants Coordinator Kathryn Murphy at kmurphy@peoriagov.org or 494-8607.



Community Development Department – Great American Clean Up

The Community Development Department, in partnership with Keep Peoria Beautiful, participated in the Great American Clean Up on Saturday, April 29th from 9:00 to noon. Nineteen Neighborhood Associations hosted neighborhood cleanup events. During the GAC, Keep Peoria Beautiful collected electronics at Glen Oak Learning Center and the Drug Enforcement Administration hosted a prescription drug take back day at multiple locations throughout the community.

Peoria residents spent time picking up litter at their properties and all across Peoria. Keeping Peoria beautiful takes the entire community working together and we are thrilled with the amount of citizens and Neighborhood Associations who participated in this year's cleanup efforts. For information on future clean ups and volunteer opportunities, please check the website AppreciatePeoria.com.



Community Development—Building Safety Month

The City of Peoria Community Development Department would like to recognize Building Safety Month being celebrated in the month of May. This year's theme is "*Code Officials - Partners in Community Safety and Economic Growth*". The month-long public awareness campaign is designed to help individuals, families, and businesses understand what it takes to create safe and sustainable structures.

With 57,000 members worldwide, the International Code Council (ICC) founded this campaign to raise awareness in the community on how building codes and code officials improve and protect the places we live, work, and play. Communities need building codes to protect their citizens from disasters like fires, weather-related events, and structural collapses; model building codes are societies best way of protecting structures from these types of potentially-devastating situations.

The Building Safety Division of the Community Development Department works to keep the public safe by ensuring all applicable national, State, and local building codes/ordinances are being followed *New construction, additions, renovations, remodeling, and changes of existing use of residential and commercial projects are all inspected by the Building Safety Division.*

For additional information on Building Safety Month and the International Code Council, please visit:

<https://www.iccsafe.org/about-icc/building-safety-month/2017-building-safety-month/>

Weekly Themes:

Week One // May 1-7, 2017

Mentoring the Next Generation of Building Professionals

Week Two // May 8-14, 2017

Building Design Solutions for All Ages

Week Three // May 15-21, 2017

Manage the Damage – Preparing for Natural Disasters

Week Four / /May 22-28, 2017

Investing in Technology for Safety, Energy & Water Efficiency

For more information, please contact the City of Peoria Development Center at 309.494.8600.

Community Development—Tenant Seminars Update

On April 24th and 27th, the City of Peoria Community Development Department hosted two Tenant Education Seminars at the East Bluff Community Center (4/24) and Christian Center (4/27) from 6:00-7:30 PM. The seminars offered tenants an opportunity to gain a better understanding of their rights and responsibilities as renters in Peoria.

Code Enforcement Supervisor Ashley Elias and Neighborhood Enhancement Coordinator Terence Acquah presented on April 24th while Neighborhood Enhancement Coordinator Raven Fuller presented on April 27th. Each seminar reviewed different neighborhood programs offered to tenant and property owners, shared common misconceptions of property maintenance, and discussed red flags to avoid in prospective rental agreements.

In addition to City staff, representatives from Prairie State Legal and Navicore Solutions presented on the legal rights of tenants as well as strategies and resources to improve financial literacy. Navicore Solutions strengthens the well-being of individuals and families through education, guidance, advocacy and support. They provide compassionate counseling solutions to consumers in the areas of personal finance, consumer credit, student loans, foreclosure prevention and housing. Prairie State Legal Services is an organization that offers free **legal services for low income persons** and those age 60 and over who have serious civil legal problems and need legal help to solve them. They discussed fair housing law, leases, and tenant rights.

For additional information, visit AppreciatePeoria.com or contact Raven Fuller at 309-494-8636.





Information Systems—Message from MS-ISAC

On May 3, 2017, the Multi-State Information Sharing and Analysis Center (MS-ISAC) received reporting from five states regarding a Google Docs phishing email campaign. The details of the attack are as follows:

- The email body states “[name] has invited you to view the following document:” and includes a link to “Open in Docs”. The link opens to a legitimate Google login page.
- Once the recipients enter their credentials or select an account, a permissions box for a fraudulent application hosted at `hxxps://googledocs[.]g-docs[.]win` requests access to the user’s address book and email.
- Once the victim clicks “Allow” this provides the attacker access to their email account and address book but not their calendar. The attacker can then send phishing emails to other targets from the compromised account.

According to open source reporting, individuals and several private sector entities are receiving these emails as well, and this campaign is not specifically directed at SLTT governments. It is likely that the use of address books results in individuals in similar industries receiving emails from colleagues in their sector. For this reason, many of the phishing emails reported to the MS-ISAC appear to be sent from addresses belonging to state, local, tribal, and territorial (SLTT) government and educational entities. If you receive similar emails, do not click on any links and delete the email immediately.

Per a trusted third party, Google is aware of the campaign and has identified it as an Oauth exploit. Google has blocked the sender and users should receive the Google 404 error if they click on the link. Google is in the process of shutting down the sender's site.

RECOMMENDATIONS:

We recommend the following general best practices, to limit the effect of phishing emails and scams on your organization:

Issues Update

May 4, 2017

1. Remind users not to open suspicious emails or attachments, or follow suspicious links, as they may contain malware.
2. Implement filters at the email gateway to filter out emails with known phishing indicators, such as known malicious subject lines, and block suspicious IP addresses at the firewall.
3. Adhere to the principal of least privilege.

If a user granted permissions to their account, these permissions can be revoked at the “Connected Apps and Sites” page of Google’s Account Settings. The user’s password should also be reset.

If you experience similar targeting, please report the email to the MS-ISAC SOC at SOC@msisac.org.

Peoria Police Department—Road Closures

- Run to Remember 5K
- Gutbuster 5K

Public Works

The City of Peoria’s Department of Public Works will host its Annual Open House on Thursday, May 25, 2017 from 4:00 p.m. - 7:00 p.m. at 3505 N. Dries Lane, Peoria, IL 61604. The Public is invited to attend.

Peoria Public Schools—Update from Superintendent Desmoulin-Kherat

This has been an exciting and busy week at the Peoria Public Schools. I was truly gratified to present the Peoria Area Chamber of Commerce the Annual State of the Schools address on Wednesday morning. It was a chance to update stakeholders on the amazing progress the Peoria Public Schools is making toward the five pillars of our strategic plan.

There is much good news to share and I will start with this week’s highlights. Last week, we learned that Richwoods High School is ranked 59th in Illinois and 1,881 in the U.S. in the most recent U.S. News and World Report rankings of U.S. high schools. The ratings are based on state assessments and on how well students are prepared for college. U.S. News and World Report awards schools Gold, Silver and Bronze ratings. Only three central Illinois high schools attained a Silver Rating: RHS, Dunlap High School and Tri-Valley High School. This is particularly impressive considering that RHS has low-income and minority student populations significantly higher than the other school districts.

On Tuesday, we showcased new machines donated by Caterpillar Inc. for Manual Academy’s Industrial Technology program that will give students the skills needed to find well-paying manufacturing jobs when they graduate from high school. Equipment rarely available to high school students, like the high-tech hydraulic tube bender and welding stations, represent just one-sixth of the \$300,000 three-year investment that Caterpillar has pledged to the Peoria Public Schools.

Let me briefly highlight some of the other accomplishments I shared on Wednesday. Details, including the State of the Schools address and accompanying slides are available to download at www.peoriapublicschools.org.

- Although over 1,000 of our students are now walking to school and we experienced some inclement weather, our school attendance rates held steady.
- The number of students with perfect attendance rose 83 percent over last year to 581.
- Both the number of suspensions and the number of school days missed due to suspensions dropped about 18 percent. Expulsions were down 60 percent.
- NWEA scores show growth in reading and math.
- According to the 5Essentials survey, the number of parents who are “very satisfied” with their child’s school and the number of respondents who would recommend PPS to another parent both rose by six percent.
- Also, according to the 5Essentials survey, 57 percent of PPS parents regularly read to their children at home and supervise their student’s homework both up from the previous year.
- PPS was one of ten Illinois districts chosen to pilot competency-based education which will give more students toward career-readiness faster.
- PPS participation in Equal Opportunity Schools (EOS), a program that works to enroll underrepresented students in AP and Early College or Dual Credit courses, is producing phenomenal numbers – the number of high school students enrolled in AP classes in 2017-2018 has increased 212 percent. Similarly, students enrolled in Early College or dual credit courses has increased 117 percent. Research shows that students who complete AP and Early College courses are better prepared for the rigor of college classwork and are more likely to graduate from college.
- Our Peoria Pathways to Prosperity program is giving PPS students first-hand workplace experience through internships and part-time employment. Currently, 23 students are placed in work situations and over 50 other placements are either pending or available.
- PPS parents and family members are more involved as we work toward the fourth pillar of our strategic plan. Our monthly Parent University events drew hundreds of family members this year. Our school PTOs are more active and organized and we have established strong connections among the PTO groups from all of our schools and with our teachers and administrators.

As we raise the standard of academic rigor for our students, PPS teachers are meeting the challenge. The District currently has 73 National Board Certified Teachers and another 25 are enrolled in training.

We also, however, have 30 openings for teachers. This coming Wednesday, May 10, we will host a Hiring Fair at Woodruff Career and Technical Center (WCTC) from 2 to 6 p.m. Principals from each of our schools will be available to interview certified teachers or May graduates with certification pending. We also will be interviewing for school nurses, teacher aides and bus drivers. The teacher shortage is a national problem which is why PPS is starting a new career pathway for students interested in becoming educators. We can grow our own teachers and keep our students in Peoria as they become productive citizens. I have asked our most recent Illinois Teacher of the Year, Kim Thomas, to help with this effort.

Issues Update

May 4, 2017

I am confident this progress will continue and grow exponentially, particularly now that Alignment Peoria is up and running, with dedicated Governing and Operating Boards and a highly-skilled Executive Director, Catherine Coyle. If you would like to learn more about Alignment Peoria, I recommend taking the time to read the article in the May issue of InterBusiness Issues (www.peoriamagazines.com). Alignment Peoria's next step in creating systemic change within the Peoria Public Schools will depend on community stakeholders willing to serve on action teams to address specific obstacles to our success. I invite you to become part of the solution.

Serve Passionately,



Dr. Sharon Desmoulin-Kherat, Superintendent

Code Violation Cases

The list of cases for May 9 is attached.

Development Review Board Agenda

Please see attached.

Downtown Advisory Commission

Please see the attached cancellation notice.

Emergency Communications Center

Please see the attached monthly report.

Housing Court Cases

The list of cases for May 9 is attached.

PEORIA POLICE DEPARTMENT



FOR IMMEDIATE RELEASE

May 3, 2017

For More Information: Contact Officer Amy Dotson – Public Information Officer – 309-620-2047

RUN TO REMEMBER 5K

Saturday, May 06, 2017 the Illinois Concerns of Police Survivor's will sponsor the 11th annual Run to Remember 5K. The run will start at 7:55am at Junction City. The run will proceed down Humboldt to Montclair and wind its way through Peoria Heights and return to Junction City via Humboldt.

The following intersections will be impacted (approximately 7:55am - 9:00am):

- Prospect & Montclair
- Woodlawn & Humboldt
- Montclair & Humboldt
- Prospect & Humboldt

If you plan to travel thru the vicinity of Junction City during these times, please be aware of increased pedestrian traffic.

PEORIA POLICE DEPARTMENT



FOR IMMEDIATE RELEASE

May 3, 2017

For More Information: Contact Officer Amy Dotson – Public Information Officer – 309-620-2047

UFS GUTBUSTER 5K

Saturday, May 06, 2017, Unclaimed Freight Store will sponsor the 3rd annual 5K Run. The race is scheduled to begin at 9am and will start on Washington St. and proceed northeast to Harrison St., turn right on Harrison St. The runners will proceed on Water to Main. The runners will then proceed on Main to Adams. Runners will turn left onto Adams St and continue to O'Brien Field. Runners will enter O'Brien Field off the alley between Oak St. and Walnut St. After passing through the ball park, they will exit on to Oak St. and continue to Adams St. Runners will re-enter Adams St. and proceed to the finish line in front of Unclaimed Freight Store on Adams St.

Washington Street will remain open to southbound traffic.

The following intersections will be impacted (approximately 9am - 10:30am):

- Chicago and Washington
- Edmond & Washington
- MacArthur & Washington
- Persimmon & Washington
- State & Washington
- Harrison & Washington
- Harrison & Water
- Main & Water
- Main & Washington
- Main & Adams
- Harrison & Adams
- Kumpf & Adams
- Persimmon & Adams
- MacArthur & Adams
- Lincoln & Adams
- Edmond & Adams
- Chicago & Adams
- Liberty & Adams

If you plan to travel in the downtown area during these times, please be aware of increased pedestrian traffic.

**CITY OF PEORIA, ILLINOIS
ENVIRONMENTAL HEARINGS (MAY 9, 2017)**

LEGAL	CODE	DEFENDANT	PROPERTY ADDRESS	INSP.	STATUS
17-CV-0540	17-428	FREDERICH, VICKI	402 E REPUBLIC ST	AM	
17-CV-0483	17-3777	CONSOLIDATED PROPERTIES, LLC	1621 W BARKER AVE	DG	
17-CV-0528	17-3459	SAMUELS, VICTORIA PHELPS, NOSHMA	805 S WARREN ST	GW	
17-CV-0476	17-4161	ARNOLD, BENJAMEN	1030 S TONTI CT	JR	
17-CV-0477	17-4100	BAILEY, JAMES	2608 W STARR CT	JR	DISMISSED
17-CV-0478	17-4169	BEHREND, BADLEY & CAITLIN	2121 W GILBERT AVE	JR	
17-CV-0520	17-4097	CITIZENS REAL ESTATE & PROPERTY MANAGEMENT	2133 N NORTHCREST DR	JR	
17-CV-0484	17-4086	COOPER, BRETT	912 W MACQUEEN AVE	JR	
17-CV-0505	17-4099	GUERRERO, JOSE, JR.	2803 NE ADAMS ST	JR	
17-CV-0522	17-4087	HARRIS, JAMES & SONDR	1906 N LINN ST	JR	
17-CV-0509	17-4160	HEAD, WALTER	2805 N PEORIA AVE	JR	
17-CV-0510	17-4163	HERNANDEZ, LUIS & CONSUELO	2002 W ANTOINETTE ST	JR	
17-CV-0511	17-4096	HOLMES, SARAH	2816 W LATROBE ST	JR	
17-CV-0516	17-4088	KAJA HOLDINGS 2 LLC C/O VISION PROPERTY MANAGEMENT	2119 W BARKER AVE	JR	
17-CV-0517	17-4092	KAJA HOLDINGS 2 LLC C/O VISION PROPERTY MANAGEMENT	1310 N BIGELOW ST	JR	
17-CV-0518	17-4098	KIRKPATRICK, TERESA	1727 N BESTOR ST	JR	DISMISSED
17-CV-0465	17-4000	KRIGBAUM, KEVIN & MELODY	1015 W COLUMBIA TERR	JR	CONTINUED
17-CV-0520	17-4097	MADYUN, JESSICA	2133 N NORTHCREST DR	JR	
17-CV-0522	17-4087	MEEKS, JAMES	1906 N LINN ST	JR	
17-CV-0525	17-4102	PATTELARO, QUIRONG	1415 E WILSON AVE	JR	
17-CV-0478	17-4169	REMAX UNLIMITED PROPERTY MANAGEMENT	2121 W GILBERT AVE	JR	
17-CV-0531	17-4159	SCHMILLEN, LEONARD	1014 N INSTITUTE PL	JR	
17-CV-0532	17-4167	SELLERS, JORDAN JONES, COLE	704 LAVEILLE ST	JR	
17-CV-0535	17-4158	SUELTER, MARIANNE	2837 W JAMES RD	JR	
17-CV-0536	17-4165	TOMPKINS, DENNIS	1224 W NORTHCREST AVE	JR	
17-CV-0473	17-3856	ABNEY GROUP, LLC	5010 N SHERIDAN RD	KG	

**CITY OF PEORIA, ILLINOIS
ENVIRONMENTAL HEARINGS (MAY 9, 2017)**

LEGAL	CODE	DEFENDANT	PROPERTY ADDRESS	INSP.	STATUS
17-CV-0479	17-3963	BOTT PROPERTIES, INC.	1712 S FARADAY AVE	KG	
17-CV-0481	17-3878	CADY, STEVEN	6300 N MT HAWLEY RD	KG	
17-CV-0486	17-3871	CURTIS, JACK	608 W RUSSELL ST	KG	
17-CV-0487	17-3853	DAVIS, MATTHEW	409 CORNHILL ST	KG	
17-CV-0490	17-3936	FREIDT, ANTHONY	2303 N LEHMAN RD	KG	
17-CV-0491	17-3937	FREIDT, ANTHONY	2701 W HAYES ST	KG	
17-CV-0492	17-3938	FREIDT, ANTHONY	1205 N FRINK ST	KG	
17-CV-0494	17-3941	FREIDT, ANTHONY	503 W COLUMBIA TERR	KG	
17-CV-0495	17-3940	FREIDT, ANTHONY	1912 N INDIANA AVE	KG	
17-CV-0496	17-3946	FREIDT, ANTHONY	1206 E MCCLURE	KG	
17-CV-0497	17-3949	FREIDT, ANTHONY	205 E ARCADIA AVE	KG	
17-CV-0499	17-3956	FREIDT, ANTHONY	914 E BEHREND'S AVE	KG	
17-CV-0500	17-3958	FREIDT, ANTHONY	914 E BEHREND'S AVE	KG	
17-CV-0493	17-3939	FREIDT, ANTHONY & BRANDY	413 E MAYWOOD AVE	KG	
17-CV-0498	17-3954	FREIDT, ANTHONY & BRANDY	4136 W COURTLAND ST	KG	
17-CV-0502	17-3900	GOMEZ PROPERTIES, LLC	3030 W ANTOINETTE ST	KG	
17-CV-0503	17-3876	GOMEZ PROPERTIES, LLC	916 S MANUAL AVE	KG	
17-CV-0506	17-3896	HADLEY, PATRICIA & JOHN	905 W LOUCKS AVE	KG	
17-CV-0507	17-3899	HADLEY, PATRICIA & JOHN	2821 N AVALON PL	KG	
17-CV-0508	17-3893	HALL, NANCY	203 E GIFT AVE	KG	
17-CV-0513	17-3814	HORAN, JOANNE (ESTATE OF)	6923-6925 N ST MARYS RD	KG	DISMISSED
17-CV-0521	17-3968	MCGOWAN, JESSE & EMMA	517 HAYWARD ST	KG	
17-CV-0526	17-3974	POWERS, ROBERT	1208 N SHERIDAN RD	KG	DISMISSED
17-CV-0482	17-3736	CJD PROPERTIES, INC.	1925 W ANN ST	LA	
17-CV-0527	17-3616	PRATHER, NEIL	2503 W HOWETT ST	LA	
17-CV-0524	17-3509	OLSSON, PHILLIP R. & HEATHER L.	768 E HIGH POINT TERR	LE	
17-CV-0514	17-3763	HOWARD, SHERRIE	2509 N ROCKWOOD DR	NR	
17-CV-0523	17-3762	MUSAITIF, ZIAD A	2408 W OVERHILL RD	NR	
17-CV-0539	17-3757	POINTS, BRIAN	3408 W RICHWOODS BLVD	NR	
17-CV-0529	17-3294	REEVES, JANE	2726 W CRESTON LN	NR	
17-CV-0043	17-211	TURNER, THOMAS	3125 W SYLVAN LN	NR	CONTINUED
17-CV-0043	17-211	TURNER, THOMAS	3125 W SYLVAN LN	NR	CONTINUED
17-CV-0474	17-3611	ALFARO, SUSAN	910 W WILLCOX AVE	PM	

**CITY OF PEORIA, ILLINOIS
ENVIRONMENTAL HEARINGS (MAY 9, 2017)**

LEGAL	CODE	DEFENDANT	PROPERTY ADDRESS	INSP.	STATUS
17-CV-0475	17-3559	ANDRADA, WILMER KOZUKO, MARILYN	900 W MCCLURE AVE	PM	
17-CV-0480	17-3073	BREYMEIER, PAUL	2913 NE ADAMS ST	PM	
16-CV-2692	16-12596	CARTER, BARBARA	2221 W TRIPP AVE	PM	CONTINUED
17-CV-0485	17-3041	CRAYTON, SARAH REVOCABLE TRUST	826 W NOWLAND AVE	PM	
17-CV-0488	17-3233	DEWITTE, MICHAEL	1910 N ASHLEY CT	PM	
17-CV-0489	17-3121	DROEGGE, JEANNE DARCHE, FREDRIC	1620 N BESTOR ST	PM	
17-CV-0501	17-3037	G & N ENTERPRISES, LLC	815 W VIRGINIA AVE	PM	
17-CV-0504	17-3610	GREEN, SHILOH	1322 W GIFT AVE	PM	
17-CV-0512	17-3740	HOOSTE, SCOTT	1006 W MCCLURE AVE	PM	
17-CV-0515	17-3244	HULLETT, LORI	1708 N MACHIN AVE	PM	
17-CV-0519	17-3606	LUDWIG, RONALD	721 W BRONS AVE	PM	
17-CV-0530	17-3238	SANCHEZ, STEVEN	1702 N MACHIN AVE	PM	
17-CV-0533	17-3045	SHORT, LLC ATTN: MARK SHORT	726 W MAYWOOD AVE	PM	
17-CV-0534	17-3242	STETCHER, STEVEN & JESSICA	1706 N MACHIN AVE	PM	
17-CV-0537	17-3607	VIP INVESTMENTS OF PEORIA LLC C/O S & S PROPERTY MGMT	718 W THRUSH AVE	PM	DISMISSED
17-CV-0538	17-3234	WATTS, CHANTEL DIAZ, NESTOR	2320 N UNIVERSITY ST	PM	
17-CV-0541	17-4326	MARUTI GAGAN MANAGEMENT LLC	1715 N KNOXVILLE AVE	TD	

76 CASES TOTAL



DEVELOPMENT REVIEW BOARD AGENDA

Plans Distributed: May 3, 2017
 Comments Due: May 10, 2017

Building/Projects this Week

Job/Project #	Address	Type	Description
17-578	5001 N BIG HOLLOW RD 14-19-151-068	COMMERCIAL ALTERATIONS – CALT	Exterior (Façade) Remodel, Retail – Council District 4 – DM/LA
17-581	1028 SW ADAMS ST 18-09-354-009	COMMERCIAL ALTERATIONS – CALT	Interior Remodel, Escape Room – Persimmon Lofts – Council District 1 – SW/KS
Project 17-65	3517 N WISCONSIN AVE 14-28-428-051	ZONING BOARD OF APPEALS - APPEAL	Appeal – Council District 3 - ST
Project 17-66	6025 W EAGLECREEK DR 13-10-452-002	PZ COMMISSION - ANNEXATION	Annexation Petition and Agreement and Rezone from a Class R-3 (Single-Family Residential) District to a R-2 (Single-Family Residential) District – Council District 4 - JN
Project 17-67	6014 W EAGLECREEK DR 13-10-451-015	PZ COMMISSION - ANNEXATION	Annexation Petition and Annexation Agreement and Rezone from a Class R-3 (Single-Family Residential) District to a R-2 (Single-Family Residential) District - Council District 4 - JN
Project 17-69	4115 W PARTRIDGE WAY 13-12-352-007	PZ COMMISSION – SPECIAL USE	Amend Special Use - Taco Bell – Council District 5 - LA
Project 17-71	819, 821, 823, 825 W COLUMBIA TER 18-05-282-023 18-05-282-024 18-05-282-025 18-05-282-026	DEVELOPMENT REVIEW BOARD – ZONING REVIEW	Parking Lot Expansion - Franklin Primary School – Council District 2 - ST
Project 17-72	200 NE WATER ST 18-10-151-003	DEVELOPMENT REVIEW BOARD – ZONING REVIEW	Carnival - Steamboat Days - Council District 1 - KS

Building Permits Issued

Commercial		Residential	
New Commercial	-	New Single-Family Dwelling	-
Commercial Addition	-	Residential Addition	1
Commercial Alteration	2	Residential Alteration	2
Commercial Demolition	-	Residential Repairs	3
Electrical	1	Electrical	4
HVAC	1	HVAC	12
Plumbing	1	Plumbing	6

Certificates of Occupancy Issued

Address/Location	Business Name	Date Issued	CD
116 S Saratoga Street	Little Dave’s Ribs	05/03/2017	1
3300 N Twelve Oaks Drive	St. Philomena	04/25/2017	2

	Council District 1	Council Districts 2 and 3	Council Districts 4 and 5	Mile and ½
Planning Inspector	Kimberly Smith	Shannon Techie	Leah Allison	Josh Naven
Phone	494-8612	494-8649	494-8667	494-8657
E-mail	ksmith@peoriagov.org	stechie@peoriagov.org	lallison@peoriagov.org	jnaven@peoriagov.org
Building Inspector	Scot Wolf	Roberto Medina	Bill Dodd	
Phone	494-8628	494-8623	494-8653	
E-mail	swolf@peoriagov.org	rmedina@peoriagov.org	wdodd@peoriagov.org	
			Chris Frank	
			494-8633	
			cfrank@peoriagov.org	
			Dan Moran	
			494-8629	
			dmoran@peoriagov.org	



DEVELOPMENT REVIEW BOARD AGENDA

Plans Distributed: May 3, 2017
 Comments Due: May 10, 2017

FOR YOUR INFORMATION ONLY

The following information was provided by the **Community Development Department** and the **Peoria City/County Health Department**. This section is not intended for your review; the intent is to provide additional information.

Community Development Department

Total Construction Value YTD	\$ 21,807,753.00
-------------------------------------	-------------------------

Address/Location	Project Type	Public Hearing Date	CD
1822 W Forrest Hill Avenue	Planning & Zoning Commission, Rezone	06/01/2017	2

Peoria City/County Health Department

Address/Location	Business Name	Information Update	CD
1412 SW Jefferson	Unknown	Plan Review Required	1
1621 N Knoxville Avenue	La Favorita Hispanic Market	Plan Review Received	2

	Council District 1	Council Districts 2 and 3	Council Districts 4 and 5	Mile and ½
Planning Inspector	Kimberly Smith	Shannon Techie	Leah Allison	Josh Naven
Phone	494-8612	494-8649	494-8667	494-8657
E-mail	ksmith@peoriagov.org	stechie@peoriagov.org	lallison@peoriagov.org	jnaven@peoriagov.org
Building Inspector	Scot Wolf	Roberto Medina	Bill Dodd	
Phone	494-8628	494-8623	494-8653	
E-mail	swolf@peoriagov.org	rmedina@peoriagov.org	wdodd@peoriagov.org	
			Chris Frank	
			494-8633	
			cfrank@peoriagov.org	
			Dan Moran	
			494-8629	
			dmoran@peoriagov.org	



OFFICE OF THE CITY MANAGER



CANCELLATION NOTICE

THE NEXT REGULAR MEETING OF THE
DOWNTOWN ADVISORY COMMISSION,
SCHEDULED FOR MAY 11, 2017,
HAS BEEN CANCELLED.

THE NEXT REGULARLY SCHEDULED MEETING
OF THE COMMISSION WILL BE JUNE 8, 2017.

Emergency Communications Center



Monthly Report April 2017

Peoria
9-1-1

CITY OF PEORIA
EMERGENCY COMMUNICATIONS CENTER 2017 ANNUAL REPORT

	JAN	FEB	MAR	APR	MAY	JUN	JUL	AUG	SEP	OCT	NOV	DEC	TOTAL	2016 Totals
Landbased 9-1-1 Calls	2,063	2,152	2,070	2,189									8,474	26,107
Wireless 9-1-1 Calls	6,241	5,981	6,519	7,047									25,788	89,797
Text To 9-1-1 Calls	30	36	12	21									99	
TOTAL 9-1-1 CALLS	8,334	8,169	8,601	9,257	0	0	0	0	0	0	0	0	34,361	115,904
Peoria Police Incoming Calls	6,994	6,538	7,745	8,467									29,744	98,234
Sheriff's Police Incoming Calls	2,161	1,929	2,187	2,487									8,764	30,831
TOTAL POLICE INCOMING CALLS	9,155	8,467	9,932	10,954	0	0	0	0	0	0	0	0	38,508	129,065
Volunteer Fire/EMS toll free calls	17	27	39	32									115	275
Peoria Fire Incoming Calls	457	445	496	566									1,964	7,563
TOTAL FIRE INCOMING CALLS	474	472	535	598	0	0	0	0	0	0	0	0	2,079	7,838
Operator Assist Calls/Alarm Calls	892	734	877	878									3,381	11,261
Ambulance Incoming Calls	281	245	237	255									1,018	3,157
ECC Supervisor Incoming Calls	601	593	602	614									2,410	8,488
Richwoods Dispatcher Incoming Calls	52	50	67	43									212	802
Downtown Dispatcher Incoming Calls	42	35	40	37									154	548
Prep 2 Dispatcher Incoming Calls	557	535	679	658									2,429	7,473
C-MED Dispatcher Incoming Calls	32	39	41	38									150	388
County Sheriff Dispatcher Incoming Calls	29	32	46	48									155	540
Fire Dispatcher Incoming Calls	57	52	67	74									250	898
OverFlow Dispatcher Incoming Calls	9	4	5	9									27	186
Call Taker Incoming Calls	1	0	9	1									11	22
TOTAL INCOMING EXTENSION CALLS	1,380	1,340	1,556	1,522	0	0	0	0	0	0	0	0	5,798	19,345
TOTAL OUTGOING EXTENSION CALLS	5,089	4,543	4,811	5,222									19,665	65,548
Peoria Police Dispatches/On view	7,370	7,233	7,986	8,910									31,499	100,541
Peoria County Sheriff Dispatches/On view	2,501	2,322	2,318	2,347									9,488	30,470
TOTAL POLICE DISPATCHES/ON VIEW	9,871	9,555	10,304	11,257	0	0	0	0	0	0	0	0	40,987	131,011
Air National Guard Fire Dispatches	2	5	6	5									18	44
Akron-Princeville Fire Dispatches	18	16	21	22									77	228
Brimfield Fire Dispatches	32	31	34	34									131	412
Dunlap Fire Dispatches	28	35	25	26									114	409
Elmwood Fire Dispatches	11	14	13	8									46	123
Limestone Fire Dispatches	139	98	101	119									457	1,383
Logan-Trivoli Fire Dispatches	28	31	52	32									143	391
Peoria Fire Dispatches	1,630	1,497	1,518	1,578									6,223	19,736
Timber-Hollis Fire Dispatches	29	28	19	15									91	307
Tuscarora Fire Dispatches	1	3	7	5									16	37
West Peoria Fire Dispatches	52	39	41	55									187	546
MABAS Fire Calls	0	3	8	8									19	30
TOTAL FIRE DISPATCHES	1,970	1,800	1,845	1,907	0	0	0	0	0	0	0	0	7,522	23,646
AMT Ambulance Dispatches	1,336	1,317	1,374	1,435									5,462	15,094
APA Ambulance Dispatches	15	11	13	17									56	195
BYE Ambulance Dispatches	51	38	50	46									185	541
TOTAL AMBULANCE DISPATCHES	1,402	1,366	1,437	1,498	0	0	0	0	0	0	0	0	5,703	14,682
Peoria County Coroner Incoming Calls	217	222	240	201									880	2,158
Community Messaging System Call-outs	12	15	17	10									54	185
Telephone Trouble Reports Completed	3	0	0	0									3	4
ETSB Equipment Trouble Reported	3	1	2	2									8	38
Citizen Concerns	1	0	0	1									2	12
CD Requests from State's Attorney's Office	9	30	15	25									79	138
CD Requests from FOI / Subpoena	1	0	0	3									4	57
CD Requests from Inner Departmental	8	7	15	4									34	63
Total Number of CD Requests	18	37	30	32	0	0	0	0	0	0	0	0	117	258
ILEAS Call Outs	0	0	0	0									0	1
JULIE Dig	53	31	37	53									174	542

Yearly Summary

	Number of Calls	Dispatch Response Time	Police Response Time	Total Time	
PEORIA POLICE					
Urgent	10292.3	1.96	4.00	6.06	
Routine	9785	21.35	6.25	27.59	
Backlog	546	33.93	7.53	41.46	
PEORIA COUNTY SHERIFF					
Urgent	1614	2.38	7.26	9.64	
Routine	2144	11.54	8.53	20.07	
Backlog	95	93.58	14.98	108.56	
		Dispatch Response Time	Fire Response Time	Total Time	Average Turnout Time
PEORIA FIRE	6175	0.82	4.21	5.06	1.42

City of Peoria
Emergency Communications Center

Police Department
Urgent Calls for Service
By Police District

	Police District	VALLEY							BLUFF			RICHWOODS							Total Calls	Total Minutes	Calls	Average
		1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19				
January 2017	Number of Calls	93	126	331	180	51	216	82	113	336	231	181	88	63	216	6	106	126	2545			
	Exceptions																		0			(total min/total calls)
	Dispatch Response Time	1.9	1.4	2.0	1.2	2.0	2.9	1.8	1.9	2.2	1.9	1.6	2.0	2.8	2.5	0.5	1.1	1.5	4990.5	2545	1.96	
	Police Response Time	2.8	3.9	3.4	3.3	3.0	3.4	4.1	3.8	3.3	3.4	4.4	5.1	5.0	6.3	12.2	4.2	6.3	10251.6	2545	4.03	
	Total time	4.7	5.3	5.4	4.5	5.0	6.3	5.9	5.7	5.5	5.3	6.0	7.1	7.8	8.8	12.7	5.3	7.8	15242.1	2545	5.99	
February 2017	Number of Calls	75	123	300	168	53	166	80	13	293	199	201	78	57	179	8	90	112	2183.3			
	Exceptions																		0			(total min/total calls)
	Dispatch Response Time	2.5	2.1	1.9	1.5	1.4	1.5	1.5	1.2	3.1	2.2	2.3	2.9	2.0	2.0	5.8	1.3	1.7	4573.0	2183.3	2.09	
	Police Response Time	2.3	3.6	3.2	3.0	3.0	3.6	4.6	3.7	3.5	4.0	4.6	4.7	5.0	5.8	10.9	4.2	6.6	8849.0	2183.3	4.05	
	Total time	4.8	5.7	5.1	4.5	4.4	5.1	6.1	4.9	6.6	6.2	6.9	7.6	7.0	7.8	16.7	5.5	8.3	13422.0	2183.3	6.15	
March 2017	Number of Calls	136	151	352	204	57	184	83	128	331	234	193	86	64	192	17	115	119	2646			
	Exceptions																		0			(total min/total calls)
	Dispatch Response Time	1.9	2.0	2.8	1.6	1.6	1.4	3.5	1.7	2.5	2.5	1.9	1.4	1.3	2.4	2.0	1.5	2.2	5641.2	2646	2.13	
	Police Response Time	2.5	3.6	3.6	3.2	3.0	3.3	4.4	3.5	3.7	4.0	4.6	4.1	1.9	5.5	9.9	4.1	6.5	10387.0	2646	3.93	
	Total time	4.4	5.6	6.4	4.8	4.6	4.7	7.9	5.2	6.2	6.5	6.5	5.5	3.2	7.9	11.9	5.6	8.7	16028.2	2646	6.06	
April 2017	Number of Calls	126	125	423	189	60	208	108	139	407	277	223	87	88	213	14	116	115	2918			
	Exceptions																		0			(total min/total calls)
	Dispatch Response Time	1.2	2.3	1.5	3.1	4.5	1.5	3.8	1.8	1.9	2.1	1.8	1.1	2.8	2.1	2.3	2.6	2.0	6011.3	2918	2.06	
	Police Response Time	2.7	3.7	3.4	3.3	3.4	3.1	5.1	3.6	3.2	3.8	4.8	4.2	5.1	5.7	9.7	4.6	6.4	11623.7	2918	3.98	
	Total time	3.9	6.0	4.9	6.4	7.9	4.6	8.9	5.4	5.1	5.9	6.6	5.3	7.9	7.8	12.0	7.2	8.4	17635.0	2918	6.04	
YEAR TO DATE TOTALS AND AVERAGES																						
	Total Number of Calls																	10292.3				
	Total Number of Exceptions																	0.0				
	Average Dispatch Response Time																	1.96				
	Average Police Response Time																	4.00				
	Average Total Time																	6.06				

City of Peoria
Emergency Communications Center

Police Department
Routine Calls for Service
By Police District

	VALLEY								BLUFF			RICHWOODS							Total Calls	Total Minutes	Calls	Average		
	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19						
January 2017	Number of Calls	72	150	267	121	82	113	107	99	255	205	178	88	107	217	3	108	102	2274			(total min/total calls)		
	Exceptions																		0					
	Dispatch Response Time	26.0	18.8	14.6	20.0	18.8	16.3	25.6	24.4	23.0	22.9	20.8	14.8	16.4	20.0	5.0	14.1	19.8	44765.0	2274	19.69			
	Police Response Time	6.1	6.8	4.9	4.2	5.1	5.7	7.4	6.2	5.4	6.6	7.0	8.0	6.5	9.1	11.7	8.1	8.9	14911.5	2274	6.56			
	Total time	32.1	25.6	19.5	24.2	23.9	33.0	30.6	28.4	29.5	27.8	22.8	22.9	29.1	16.7	22.2	28.7	59676.5	2274	26.24				
February 2017	Number of Calls	71	142	223	104	84	109	96	1.4	297	243	163	83	67	179	7	117	99	2085.4			(total min/total calls)		
	Exceptions																		0					
	Dispatch Response Time	16.9	20.6	15.6	21.6	18.8	22.1	19.9	12.0	29.3	25.8	16.9	13.8	11.9	18.1	17.3	14.6	9.9	41483.8	2085.4	19.89			
	Police Response Time	5.0	6.1	5.1	5.0	5.5	5.8	5.7	5.4	5.3	5.3	6.6	6.8	6.7	8.6	10.0	7.1	8.4	12750.3	2085.4	6.11			
	Total time	21.9	26.7	20.7	26.6	24.3	27.9	25.6	17.4	34.6	31.1	23.5	20.6	18.6	26.7	27.3	21.7	18.3	54234.1	2085.4	26.01			
March 2017	Number of Calls	96	218	255	159	94	131	100	125	284	228	197	129	110	195	9	134	120	2584			(total min/total calls)		
	Exceptions																		0					
	Dispatch Response Time	20.1	23.9	15.8	24.7	21.2	19.5	19.2	16.5	26.3	22.4	16.4	17.9	16.2	21.9	30.5	19.3	18.1	52827.4	2584	20.44			
	Police Response Time	4.2	7.6	5.8	4.3	6.1	5.1	7.1	6.2	4.9	5.5	6.8	8.2	7.0	8.8	14.1	7.2	8.4	16577.9	2584	6.42			
	Total time	24.3	31.5	21.6	29.0	27.3	26.3	22.7	31.2	27.9	23.2	26.1	23.2	30.7	44.6	26.5	26.5	69405.3	2584	26.86				
April 2017	Number of Calls	74	189	312	149	105	154	123	130	382	297	202	120	99	204	6	149	147	2842			(total min/total calls)		
	Exceptions																		0					
	Dispatch Response Time	21.7	30.8	19.0	30.8	29.9	20.9	24.0	26.8	31.9	32.3	16.6	18.3	20.3	26.2	13.7	21.4	23.0	72072.7	2842	25.36			
	Police Response Time	4.3	5.6	5.2	4.4	6.4	5.6	6.0	5.4	5.0	5.8	6.0	6.5	6.6	8.1	12.0	5.8	8.7	16774.5	2842	5.90			
	Total time	26.0	36.4	24.2	35.2	36.3	30.0	32.2	36.9	38.1	22.6	24.8	26.9	34.3	25.7	27.2	31.7	88847.2	2842	31.26				
YEAR TO DATE TOTALS AND AVERAGES																								
	Total Number of Calls																				9785			
	Total Number of Exceptions																				0			
	Average Dispatch Response Time																				21.35			
	Average Police Response Time																				6.25			
	Average Total Time																				27.59			

City of Peoria
Emergency Communications Center

Police Department
Backlog Calls for Service
By Police District

	VALLEY								BLUFF			RICHWOODS							Total Calls	Calls	Average	
	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19					
January 2017	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	125		(total min/total calls)	
	Number of Calls	2	31	7	8	2	5	7	6	12	11	8	5	5	8	0	3	5	0			
	Exceptions																					
	Dispatch Response Time	112.5	21.8	9.2	49.6	67.0	46.2	10.3	23.7	29.9	54.6	52.5	16.4	33.4	67.9	0.0	18.3	36.8	4351.8	125	34.81	
	Police Response Time	4.0	9.3	6.7	7.3	3.0	7.2	6.3	7.6	5.1	5.5	4.0	3.6	8.5	10.0	9.5	0.0	18.3	919.0	125	7.35	
Total time	116.5	31.1	15.9	56.9	70.0	53.4	16.6	31.3	35.0	60.1	56.5	20.0	41.9	77.9	9.5	18.3	55.1	5270.8	125	42.17		
February 2017	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	129		(total min/total calls)	
	Number of Calls	5	27	13	4	3	5	4	4	10	11	13	6	4	9	0	4	7	0			
	Exceptions																					
	Dispatch Response Time	16.2	20.2	14.6	44.5	25.7	26.0	13.0	20.0	62.1	62.2	51.1	14.6	22.0	29.3	0.0	16.0	25.2	3982.5	129	30.87	
	Police Response Time	3.5	7.7	10.8	9.3	2.7	6.4	8.8	14.3	4.2	8.0	7.5	6.7	5.3	9.0	0.0	10.3	6.3	990.7	129	7.68	
Total time	19.7	27.9	25.4	53.8	28.4	32.4	21.8	34.3	66.3	70.2	58.6	21.3	27.3	38.3	0.0	26.3	31.5	4973.2	129	38.55		
March 2017	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	126		(total min/total calls)	
	Number of Calls	2	24	14	5	3	6	2	12	19	15	7	3	3	7	1	1	2	0			
	Exceptions																					
	Dispatch Response Time	33.5	22.5	22.4	68.4	11.7	12.2	39.5	14.0	46.4	32.0	64.0	17.0	22.0	37.6	29.0	6.0	13.0	3868.7	126	30.70	
	Police Response Time	3.0	10.5	3.7	17.0	9.7	6.0	4.5	5.4	6.6	8.5	7.0	6.7	5.0	5.1	0.0	11.0	8.0	933.4	126	7.41	
Total time	36.5	33.0	26.1	85.4	21.4	18.2	44.0	19.4	53.0	40.5	71.0	23.7	27.0	42.7	29.0	17.0	21.0	4802.1	126	38.11		
April 2017	Police District	1	2	4	5	6	8	12	3	10	11	13	14	15	16	17	18	19	166		(total min/total calls)	
	Number of Calls	3	30	8	8	5	8	10	6	21	20	6	3	6	10	0	8	14	0			
	Exceptions																					
	Dispatch Response Time	61.0	16.3	16.4	62.6	37.6	34.0	27.7	21.2	61.6	52.2	32.8	40.3	7.8	83.5	0.0	11.6	52.3	6530.3	166	39.34	
	Police Response Time	5.7	9.7	12.3	5.4	10.5	9.5	4.4	5.0	4.3	7.6	6.8	5.0	8.8	7.9	0.0	5.9	10.3	1273.5	166	7.67	
Total time	66.7	26.0	28.7	68.0	48.1	43.5	32.1	26.2	65.9	59.8	39.6	45.3	16.6	91.4	0.0	17.5	62.6	7803.8	166	47.01		
YEAR TO DATE TOTALS AND AVERAGES																						
Total Number of Calls															546							
Total Number of Exceptions															0.0							
Average Dispatch Response Time															33.93							
Average Police Response Time															7.53							
Average Total Time															41.46							

City of Peoria
Emergency Communications Center

Peoria Fire Department
Fire Calls for Service
By Fire Map

	Fire Map	VALLEY				BLUFF			RICHWOODS					Total Calls	(total min/total calls) Total Minutes Calls Average		
		100-199	200-299	400-499	1200-1299	300-399	1000-1099	1100-1199	1300-1399	1500-1599	1600-1699	1900-1999	2000-2099				
January 2017	Number of Calls	249	122	241	76	139	157	102	215	54	143	72	43	1613			
	Dispatch Response Time	0.6	0.5	0.5	0.3	0.7	0.9	0.7	0.7	0.6	0.6	2.0	1.1	1123.7	1613	0.70	
	Fire Response Time	3.5	3.9	4.2	5.4	3.6	4.7	4.4	4.2	5.0	4.6	6.0	5.7	6964.9	1613	4.32	
	Total time	4.1	4.4	4.7	5.7	4.3	5.6	5.1	4.9	5.6	5.2	8.0	6.8	8088.6	1613	5.01	
February 2017	Number of Calls	242	133	215	81	108	145	88	181	42	159	67	26	1487			
	Dispatch Response Time	0.8	1.0	0.6	0.3	0.9	0.7	2.1	0.8	1.2	0.7	0.5	0.2	1208.6	1487	0.81	
	Fire Response Time	3.3	3.9	3.8	5.3	3.9	4.5	4.3	4.4	5.0	4.6	5.8	5.7	6290.3	1487	4.23	
	Total time	4.1	4.9	4.4	5.6	4.8	5.2	6.4	5.2	6.2	5.3	6.3	5.9	7498.9	1487	5.04	
March 2017	Number of Calls	284	125	208	58	117	123	103	196	34	139	75	34	1496			
	Dispatch Response Time	1.1	0.8	1.2	0.3	0.8	1.3	1.0	0.5	0.8	0.7	1.3	0.6	1376.3	1496	0.92	
	Fire Response Time	3.4	4.0	4.0	4.9	4.0	4.2	4.1	4.2	4.9	4.6	5.3	6.6	6239.8	1496	4.17	
	Total time	4.5	4.8	5.2	5.2	4.8	5.5	5.1	4.7	5.7	5.3	6.6	7.2	7616.1	1496	5.09	
April 2017	Number of Calls	255	108	239	74	137	143	120	191	47	158	76	31	1579			
	Dispatch Response Time	0.5	1.1	0.7	0.5	0.7	1.9	1.3	0.9	0.8	0.8	0.5	0.4	1360.5	1579	0.86	
	Fire Response Time	3.4	3.9	3.9	5.5	3.8	4.2	4.0	4.4	4.9	4.6	6.2	5.1	6655.3	1579	4.21	
	Total time	3.9	5.0	4.6	6.0	4.5	6.1	5.3	5.3	5.7	5.4	6.7	5.5	8015.8	1579	5.08	
YEAR TO DATE TOTALS AND AVERAGES																	
Total Number of Calls										6175							
Average Dispatch Response Time										0.82							
Average Fire Response Time										4.21							
Average Total Time										5.06							

Peoria Fire Department
Average Turn-Out Time for Each Apparatus

	JAN	FEB	MAR	APR	MAY	JUN	JUL	AUG	SEP	OCT	NOV	DEC	Yearly Average
B1	1.5	1.4	1.4	1.4									1.43
E1	1.4	1.4	1.4	1.3									1.38
R1	1.5	1.4	1.3	1.4									1.40
T1	1.7	1.6	1.4	1.4									1.53
E10	1.4	1.4	1.4	1.3									1.38
E12	1.5	1.5	1.5	1.4									1.48
E13	1.3	1.3	1.3	1.2									1.28
T14	1.5	1.5	1.5	1.5									1.50
E15	1.5	1.6	1.6	1.6									1.58
E16	1.4	1.5	1.4	1.4									1.43
E19	1.5	1.5	1.4	1.5									1.48
E2	1.4	1.5	1.5	1.6									1.50
R2	1.5	1.3	1.4	1.3									1.38
E20	1.6	1.5	1.6	1.7									1.60
B3	1.4	1.4	1.5	1.4									1.43
E3	1.3	1.3	1.3	1.2									1.28
T3	1.3	1.5	1.3	1.3									1.35
E4	1.4	1.4	1.5	1.3									1.40
T4	1.3	1.6	1.1	1.2									1.30
												Department Average	1.42

City of Peoria
 Emergency Communications Center
 Peoria County Sheriff's Department
 Urgent calls for service by district

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls			
		Number of Calls															(total min/total calls)
January 2017	Number of Calls	2	5	8	2	83	91	40	14	26	32	98		401			
	Exceptions													0			
	Dispatch Response Time	4.0	1.4	1.2	1.0	2.2	3.5	3.3	1.4	1.6	1.7	1.9		961.5	401	2.40	
	Police Response Time	15.0	17.3	7.5	12.0	7.9	8.2	12.1	8.3	4.4	8.5	3.2		2902.6	401	7.24	
	Total time	19.0	18.7	8.7	13.0	10.1	11.7	15.4	9.7	6.0	10.2	5.1		3864.1	401	9.64	
February 2017	Number of Calls	5	5	4	2	91	76	48	13	17	37	102		400			
	Exceptions													0			
	Dispatch Response Time	4.3	5.8	1.7	1.0	2.7	3.8	2.2	1.9	1.3	1.6	2.7		1080.8	400	2.70	
	Police Response Time	8.3	17.5	7.0	12.0	7.2	8.7	12.2	10.2	4.4	8.9	3.8		3007.3	400	7.52	
	Total time	12.6	23.3	8.7	13.0	9.9	12.5	14.4	12.1	5.7	10.5	6.5		4088.1	400	10.22	
March 2017	Number of Calls	5	6	7	0	80	89	35	11	22	29	80		364			
	Exceptions													0			
	Dispatch Response Time	2.8	4.8	0.8	0.0	1.8	2.5	2.2	0.4	2.6	2.2	1.2		713.3	364	1.96	
	Police Response Time	0.0	14.8	5.4	0.0	8.1	8.6	12.6	11.4	3.7	8.6	3.6		2725.2	364	7.49	
	Total time	2.8	19.6	6.2	0.0	9.9	11.1	14.8	11.8	6.3	10.8	4.8		3438.5	364	9.45	
April 2017	Number of Calls	4	10	8	0	104	93	37	11	27	39	116		449			
	Exceptions													0			
	Dispatch Response Time	1.3	1.4	4.2		2.8	2.8	3.2	2.6	2.9	2.0	1.7		1104.9	449	2.46	
	Police Response Time	6.0	14.0	6.3		7.6	6.9	12.6	11.7	3.6	7.5	3.6		3048.7	449	6.79	
	Total time	7.3	15.4	10.5	0.0	10.4	9.7	15.8	14.3	6.5	9.5	5.3		4153.6	449	9.25	
YEAR TO DATE TOTALS AND AVERAGES																	
														Total Number of Calls	1614.0		
														Total Number of Exceptions	0		
														Average Dispatch Response Time	2.38		
														Average Police Response Time	7.26		
														Average Total Time	9.64		

City of Peoria
Emergency Communications Center
Peoria County Sheriff's Department
Routine calls by district

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls		
January 2017	Number of Calls	58	6	5	4	114	148	31	8	23	42	106		545		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	10.9	9.3	4.3	26.3	15.1	10.0	10.0	5.5	23.8	11.5	9.7		6428.7	545	11.80
	Police Response Time	4.7	21.8	7.0	12.0	9.7	8.3	15.2	13.9	5.0	13.9	4.9		4621.2	545	8.48
	Total time	15.6	31.1	11.3	38.3	24.8	18.3	25.2	19.4	28.8	25.4	14.6		11049.9	545	20.28
February 2017	Number of Calls	33	5	3	0	68	146	44	11	20	38	83		451		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	5.6	16.8	24.0	0.0	13.0	10.4	23.4	10.0	5.2	10.4	11.0		5295.0	451	11.74
	Police Response Time	3.1	26.3	2.0	0.0	10.5	7.9	17.3	10.2	4.7	11.9	5.2		3958.4	451	8.78
	Total time	8.7	43.1	26.0	0.0	23.5	18.3	40.7	20.2	9.9	22.3	16.2		9253.4	451	20.52
March 2017	Number of Calls	38	7	8	2	84	176	42	11	29	35	92		524		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	17.9	10.3	23.7	5.5	13.3	10.6	7.0	5.0	7.4	9.4	7.5		5518.6	524	10.53
	Police Response Time	1.9	17.0	6.6	15.5	11.4	8.9	16.9	7.3	4.6	9.2	4.5		4458.5	524	8.51
	Total time	19.8	27.3	30.3	21.0	24.7	19.5	23.9	12.3	12.0	18.6	12.0		9977.1	524	19.04
April 2017	Number of Calls	48	9	11	3	121	183	52	13	34	35	115		624		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	10.0	2.9	13.1	13.0	15.2	12.3	11.9	8.6	9.7	13.8	10.6		7541.7	624	12.09
	Police Response Time	4.1	13.3	12.1	15.5	10.4	8.1	12.3	10.8	5.8	11.0	5.4		5220.0	624	8.37
	Total time	14.1	16.2	25.2	28.5	25.6	20.4	24.2	19.4	15.5	24.8	16.0		12761.7	624	20.45
YEAR TO DATE TOTALS AND AVERAGES																
	Total Number of Calls												2144.0			
	Total Number of Exceptions												0			
	Average Dispatch Response Time												11.54			
	Average Police Response Time												8.53			
	Average Total Time												20.07			

City of Peoria
Emergency Communications Center
Peoria County Sheriff's Department
Backlog Calls for Service by District

	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls		
		Number of Calls	13	0	1	0	5	7	2	0	0	4	2		34	
January 2017	Exceptions													0		
	Dispatch Response Time	280.6	0.0	1.0	0.0	34.2	8.0	5.0	0.0	0.0	15.5	2.0		3951.8	34	116.2
	Police Response Time	24.3	0.0	7.0	0.0	17.3	8.8	29.0	0.0	0.0	18.7	1.0		605.8	34	17.8
	Total time	304.9	0.0	8.0	0.0	51.5	16.8	34.0	0.0	0.0	34.2	3.0	0.0	4557.6	34	134.0
February 2017	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls		
	Number of Calls	7	0	0	0	2	8	3	1	0	0	2		23		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	346.1	0.0	0.0	0.0	20.0	12.8	15.3	4.0	0.0	0.0	23.5		2662.0	23	115.7
March 2017	Police Response Time	21.6	0.0	0.0	0.0	25.0	9.0	20.7	11.0	0.0	0.0	5.5		357.3	23	15.5
	Total time	367.7	0.0	0.0	0.0	45.0	21.8	36.0	15.0	0.0	29.0	0.0	0.0	3019.3	23	131.3
	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls		
	Number of Calls	11	1	0	0	6	7	3	1	1	2	6		38		(total min/total calls)
April 2017	Exceptions													0		
	Dispatch Response Time	198.0	115.0	0.0	0.0	13.5	30.3	17.0	9.0	33.0	1.0	3.7		2703.3	38	71.1
	Police Response Time	15.4	24.0	0.0	0.0	15.8	7.5	16.3	21.0	8.0	9.0	4.8		465.4	38	12.2
	Total time	213.4	139.0	0.0	0.0	29.3	37.8	33.3	30.0	41.0	10.0	8.5	0.0	3168.7	38	83.4
April 2017	County District	700	710	711	712	713	714	715	716	717	718	726	Other	Total Calls		
	Number of Calls	8	1	3	0	5	14	3	0	2	4	2		42		(total min/total calls)
	Exceptions													0		
	Dispatch Response Time	282.1	20.0	19.7	0.0	12.6	26.6	7.0	0.0	28.0	12.5	46.0		2990.3	42	71.2
YEAR TO DATE TOTALS AND AVERAGES	Police Response Time	16.1	2.0	12.0	0.0	20.3	13.9	11.0	0.0	11.5	18.0	5.5		601.9	42	14.3
	Total time	298.2	22.0	31.7	0.0	32.9	40.5	18.0	0.0	39.5	30.5	51.5	0.0	3592.2	42	85.5
	Total Number of Calls													95		
	Total Number of Exceptions													0.0		
Average Dispatch Response Time													93.58			
Average Police Response Time													14.98			
Average Total Time													108.56			

			HOUSING COURT 5/9/17	73 CASES				
BD	NO	09:00 AM	RICCA, LEON & PATRICIA	HC-17-364	GREEN 701	9-May-17	FIRST APPEARANCE	
BD	NO	09:00 AM	RICCA, LEON & PATRICIA	HC-17-363	PERRY 625 NE	9-May-17	FIRST APPEARANCE	
BD	NO	09:00 AM	BEE-J PROPERTIES	HC-17-370	WASHINGTON 2205 SW	9-May-17	FIRST APPEARANCE	
CF	NO	09:00 AM	AEGR INC	HC-17-293	KNOXVILLE 2204 N	9-May-17	REVIEW	
CF	NO	09:00 AM	PATIDAR, MANN & SUDHA	HC-17-368	MCCLURE 1213 E	9-May-17	FIRST APPEARANCE	
DAN	NO	09:00 AM	CHRIS RENNER PROPERTIES INC	HC-16-1417	HANSSLER 2612 N	9-May-17	REVIEW	
DAN	C	09:00 AM	FOX HILLS INVESTMENTS	HC-16-866	MAIN 0633	09-May-17	REVIEW	
DG	O	09:00 AM	MORRISSEY RAYMOND	HC-17-066	CHRISTINE 1327	9-May-17	REVIEW	
DG	O	09:00 AM	HARMON, RHONDA	HC-16-1602	CREIGHTON 3034 W	9-May-17	REVIEW	
DG	O	09:00 AM	MAST, JOSEPH & ANN	HC-17-355	MILLBROOK 2717 N	9-May-17	FIRST APPEARANCE	
DG	O	09:00 AM	HUNTER, GEORGE & MARTHA	HC-16-1436	PAGEWOOD 3713 W	09-May-17	REVIEW	
DG	O	09:00 AM	COLEMAN, JULIUS	HC-17-284	RANDWICK 6322 N	9-May-17	REVIEW	
DG	O	09:00 AM	MARIA C. MESCHEWSKI TRUST	HC-17-271	SAYMORE 3117 W	9-May-17	REVIEW	
DG	NO	09:00 AM	GHSC ANNEX LAND TRUST	HC-16-1450	SCENIC 2532 W	09-May-17	REVIEW	
DG	NO	09:00 AM	GHSC ANNEX LAND TRUST	HC-16-1451	SCENIC 2707 W	09-May-17	REVIEW	
DG	NO	09:00 AM	JOSEPH, DAVID	HC-16-1449	SCENIC 2716 W	09-May-17	REVIEW	
DG	NO	09:00 AM	JOSEPH, DAVID	HC-16-1448	SCENIC 2724 W	09-May-17	REVIEW	
DG	O	09:00 AM	ALLEN, ARTHUR	HC-16-1447	SCENIC 2822 W	09-May-17	REVIEW	
GW	NO	09:00 AM	QUAD CITY CONSOLIDATED	HC-17-051	BUTLER 1553	9-May-17	REVIEW	
GW	O	09:00 AM	ELKINS MIKE/TUMMILLO/TINA	HC-16-1564	BUTLER 2107 W	9-May-17	REVIEW	
GW	NO	09:00 AM	LAWSON, MANZELL	HC-17-008	LINCOLN 1309 W	9-May-17	REVIEW	
GW	NO	09:00 AM	GRAY, JAMES JR.	HC-17-161	MARTIN 1319 W	9-May-17	REVIEW	
GW	O	09:00 AM	CRISS ROBBIE	HC-17-197	MARTIN 1828	9-May-17	TO POST	
GW	O	09:00 AM	HARRIS, MARK	HC-16-1498	SHELLEY 929 S	9-May-17	REVIEW	
GW	NO	9:00 AM	WAINWRIGHT, WESLEY	HC-16-1283	SUMNER 0713 S	9-May-17	REVIEW	
GW	NO	09:00 AM	ANDRADA, WILMER	HC-16-1591	WARREN 0915 S	9-May-17	REVIEW	
JM	C	09:00 AM	WAHFELDS LLC	HC-15-856	WASHINGTON 0600/601	9-May-17	REVIEW	
JS	O	09:00 AM	ZAVALA JOEL	HC-16-533	BIGELOW 1712	9-May-17	REVIEW/DEFAULT PEND \$300	
JS	NO	09:00 AM	VINOVICH, ROBERT & DEANNA	HC-16-1545	BIGELOW 1817 N	9-May-17	REVIEW	
JS	NO	09:00 AM	THILL, WILLIAM	HC-17-366	FRYE 523 E	9-May-17	FIRST APPEARANCE	
JS	NO	09:00 AM	WEBER, GARY	HC-17-365	FRYE 527 E	9-May-17	FIRST APPEARANCE	
JS	NO	09:00 AM	SCHAUT, BRENDA/ JASON	HC-16-1144	ILLINOIS 0415 E	09-May-17	REVIEW	
JS	NO	09:00 AM	SCHUMACHER LLOYD	HC-17-115	LINN 1512	09-May-17	REVIEW	
JS	NO	09:00 AM	LATTIMORE DANIEL	HC-16-762	LINN 1723	09-May-17	REVIEW/DEFAULT PEND \$500	
JS	NO	09:00 AM	DAVIS-JOHNSON LYNNE ANN	HC-16-1454	MILTON 1917 N	09-May-17	REVIEW	
JS	NO	09:00 AM	JPINEILLINOIS, LLC	HC-17-367	MISSOURI 1905 N	9-May-17	FIRST APPEARANCE	

JS	NO	09:00 AM	VINCENT MICHAEL	HC-17-253	NEW YORK 1515	9-May-17	TO POST	
JS	NO	09:00 AM	PRIVATE CAPITAL FUND	HC-17-252	PEORIA 1901	9-May-17	REVIEW	
LA	NO	09:00 AM	PARR, STEVEN	HC-17-354	MONTANA 2804 W	9-May-17	FIRST APPEARANCE	
LA	O	09:00 AM	HENDERSON ESTATES	HC-17-209	WISWALL 2203	9-May-17	TO POST	
LE	NO	9:00 AM	BAILEY MARGARET/BILLY	HC-16-1279	GLEN 0324	09-May-17	REVIEW	
LE	NO	09:00 AM	MERRITT, WILLIAM & LINDA	HC-17-014	HUDSON 2037 W	9-May-17	REVIEW	
LE	NO	09:00 AM	HOFFMAN NATHAN/KAREL	HC-17-181	MCCLURE 0810 E	9-May-17	TO POST	
LE	NO	09:00 AM	CONSOLIDATED PROPERTIES LLC	HC-17-360	NEBRASKA 1000 E	9-May-17	FIRST APPEARANCE	
LE	NO	09:00 AM	MAJORS, RICHARD & SHARON	HC-17-359	NEBRASKA 1002 E	9-May-17	FIRST APPEARANCE	
LE	NO	09:00 AM	KYLE & KELLY RHODERICK TRUST	HC-17-362	NEBRASKA 1020 E	9-May-17	FIRST APPEARANCE	
LE	NO	09:00 AM	NEW BEST ESTATE CONSULTING LLC	HC-17-361	NEBRASKA 1106 E	9-May-17	FIRST APPEARANCE	
LE	O	09:00 AM	CASTON, IMOGENE	HC-17-358	NEBRASKA 1109 E	9-May-17	FIRST APPEARANCE	
LE	NO	09:00 AM	KAISER, ROBERT	HC-16-1579	PEORIA 2801 N	9-May-17	REVIEW	
LE	O	09:00 AM	SCHUMACHER JOHN W	HC-17-182	SHERIDAN 5110	9-May-17	TO POST	
LE	O	09:00 AM	GAMBILL BLAIR/BRENDA	HC-16-1324	STRATFORD 0101	09-May-17	REVIEW/DEFAULT PEND \$1000	
LE	NO	09:00 AM	SHORT MATTHEW	HC-17-184	VIRGINIA 1223 E	9-May-17	REVIEW	
MB	NO	09:00 AM	BAILEY SCOTT	HC-17-259	JEFFERSON 1707 NE	9-May-17	REVIEW	
MB	NO	09:00 AM	IMMEDIATE REALTY	HC-17-260	MONROE 0405 NE	9-May-17	REVIEW	
MB	NO	09:00 AM	HOLOCKER JAMES	HC-17-100	MONROE 2223 NE	9-May-17	REVIEW	
NR	NO	09:00 AM	SCHUMACHER LLOYD	HC-16-1389	BIGELOW 1302	09-May-17	REVIEW	
NR	NO	09:00 AM	RODRIGUEZ, JOSE & STRANTZ, PATRI	HC-17-022	BOURLAND 1107	09-May-17	REVIEW	
NR	NO	09:00 AM	WHEELER BRAD	HC-17-198	BOURLAND 1221	9-May-17	TO POST	
NR	O	09:00 AM	ALTORFER/BOWERS	HC-17-043	CINDY 2221	9-May-17	REVIEW	
NR	NO	09:00 AM	VP PROPERTY INVESTMENTS LLC	HC-17-369	COLUMBIA 317 W	9-May-17	FIRST APPEARANCE	
NR	NO	09:00 AM	AKINLUA/HYDE	HC-17-073	FARMINGTON 1009	9-May-17	REVIEW	
NR	O	09:00 AM	BARRETT CAROL	HC-17-199	FLORA 1218	9-May-17	TO POST	
NR	O	09:00 AM	EDWARDS ROBIN	HC-17-110	MAPLEWOOD 1201 W	9-May-17	REVIEW	
NR	O	09:00 AM	VECCO, GERALD	HC-16-1491	MOSS 0724 W	09-May-17	REVIEW	
NR	O	09:00 AM	LANE, THOMAS JR	HC-16-1245	ROANOKE 0116 NE	09-May-17	REVIEW	
NR	NO	09:00 AM	CRISS, DOROTHY	HC-17-356	ST JAMES 719 W	9-May-17	FIRST APPEARANCE	
PM	O	09:00 AM	WISHER, RUBY	HC-16-1422	BESTOR 1615 N	09-May-17	REVIEW	
PM	O	09:00 AM	WILSON, ANGELINE	HC-16-1553	BROADWAY 1811 N	9-May-17	REVIEW	
PM	NO	09:00 AM	SIMMONS, HAROLD	HC-17-020	BRONS 0911 W	9-May-17	REVIEW	
PM	NO	09:00 AM	COOPER, BRETT	HC-16-1594	MACQUEEN 0912 W	9-May-17	REVIEW	
PM	NO	09:00 AM	ANDRADA, WILMER	HC-16-1655	MCCLURE 0900 W	9-May-17	REVIEW	
PM	NO	09:00 AM	WHITEHURST, LARRY & REED, ELDON	HC-16-1627	NEBRASKA 0913 W	9-May-17	REVIEW	
PM	NO	09:00 AM	CAUSEY, TRACEY	HC-16-1528	UNDERHILL 2108 N	9-May-17	REVIEW	
RM	NO	09:00 AM	HEAVER, WILLIAM	HC-17-357	JEFFERSON 1500 NE	9-May-17	FIRST APPEARANCE	